Rk BR.LEX

T XEHLLICET HERRAER]

ARERDER

SER D AR IR

E]

@ T & & 129B3006-2
& T £ BE-12-2

Zil

it

EATAFEAFE

&l

ERMAIRER

S &
" ey -‘-\.\ﬁ‘_ L

e e

SE 0 AP

=)

Py

= ?’5‘%‘{%&%& Fill P > %‘%m

iy, 205
=t -y #
SR _Ké‘b&/ - e e T

O e

DAmnAt

8km

o A o S ”1{/'20-0‘ 900

S g

SIER (s=1:200,000)

FHb D FRR)




REMdMBoMBER RGBS TEEE TRIOEE

HA3—1 BEWOSENOHS L. FLLVEROSTLOSSLBORER _ _ _
ZE ko[ E] BHES | 129B3006-2 | &g | HRE-12-2 | ArEsh | ERMHERSE

I}
| A#
B g
A T#
=i esosthoss +hoxs:
BEOSTNOHZ L HOK:
[ tazosmsmmsaisnm
[] ta%onm0nmi0m/rE@235HE

— R
0 10 20 40m
1/1, 000

EFR




RIER b AR X EGEH =

BRS—2 BEMIERTILETSNAHERICEIZFE/) i} _ _ HEFE | FRIEE
2ENMONE | #MES | 129B3006-2 [l | FE-12-2 [ et | =AmERB AT
) SERMO TinICHEET S ZEH A
ﬁi’; TREOBBOEILNOKRES TERFDOHBEEILNOKRES TREOBEOEILADKRES TREOHBESEILADKES
R o | BT e | B2 | e | e | B2 | B TR e | B2 | T | & | T
1 100kN/m##8% % 1.00{0.00 ~ 3.73 160.47|3m%x# %% 0.00 ~ 1.40( 3.69 18.66| 100kN/m#%#B 2% 1.00{ 10.54 ~ 44.16 160.47| 3m%x#8% 5| 25.00 ~ 44.16| 3.69 18.66
s 1.00] 3.73 ~ 11.51 100.00| #+list | 1.40 ~ 11.51] 3.00 15.16 s 1.00f 500 ~ 10.54 100.00f Z=hl4t+ | 5.00 ~ 2500 3.00 15.16
9 100kN/m##8 %% 1.00{0.00 ~ 3.66 159.29|3m%x# %% 0.00 ~ 1.34| 3.65 18.45| 100kN/m#%#B 2% 1.00{ 10.53 ~ 44.76 159.29| 3m%*x#8% 5| 25.00 ~ 44.76| 3.65 18.45
s 1.00] 3.66 ~ 11.44 100.00| ZHnlist | 1.34 ~ 11.44| 3.00 15.16 s 1.00f 5.00 ~ 10.53 100.00f Z=hkl4t+ | 5.00 ~ 25.00[ 3.00 15.16
3 100kN/m##8 %% 1.00{0.00 ~ 3.84 162.54|3m%x# %% 0.00 ~ 1.53| 3.79 19.14| 100kN/m#%#B 2% 1.00{ 10.64 ~ 43.94 162.54| 3m%x#8% 5| 25.00 ~ 43.94| 3.79 19.14
s 1.00/3.84 ~ 11.63 100.00| #+list | 153 ~ 11.63] 3.00 15.16 s 1.00f 500 ~ 10.64 100.00f Z=hkl4t+ | 5.00 ~ 2500 3.00 15.16
4 100kN/m##8 %% 1.00|-1.20 ~ -1.20 161.60| 3m%i#825|-1.20 ~ 0.33] 3.76 19.01| 100kN/m#%#B 2% 1.00{ 10.60 ~ 42.50 161.60| 3m*x#8% %] 25.00 ~ 42.50| 3.76 19.01
ZHnLs 1.00[-1.20 ~ 3.26 100.00f Zhkl4t |0.33 ~ 3.26] 3.00 15.16 s 1.00f 5.00 ~ 10.60 100.00f Z=h k4t | 5.00 ~ 25.00[ 3.00 15.16
5 100kN/m##8 %% 1.00|-1.20 ~ -1.20 161.23|3m%i#825|-1.20 ~ 0.30] 3.75 18.93| 100kN/m#%#B 2% 1.00{ 10.58 ~ 42.27 161.23| 3m%x#8% 5| 25.00 ~ 42.27| 3.75 18.93
s 1.00[-1.20 ~ 3.24 100.00f Zhkl4t |0.30 ~ 3.24] 3.00 15.16 s 1.00f 5.00 ~ 10.58 100.00f Z=hkl4t+ | 5.00 ~ 25.00[ 3.00 15.16
6 100kN/m##8 %% 1.00{0.00 ~ 3.58 157.91|3m%x# %%/ 0.00 ~ 1.29 3.62 18.30| 100kN/m#%#8 2% 1.00{ 10.54 ~ 43.78 157.91|3m%x#8% 5| 25.00 ~ 43.78| 3.62 18.30
s 1.00] 3.58 ~ 11.37 100.00| #H kst 11.29 ~ 11.37] 3.00 15.16 s 1.00f 500 ~ 10.54 100.00f Z=hkl4t+ | 5.00 ~ 2500 3.00 15.16
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
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